Sampler / looper

Balloon Tree
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ad lib textural sounds
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J=46 (free and flexible) ‘Record sample 1 (sop 1 &2 riffs)‘
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ad lib sounds

‘Record sample 5 (sop 1 held G)‘

‘Record sample 4 (sop 1 & 2, bass 1 & 2 chord) ‘

‘Record sample 3 (sop 1 & 2, bass 1 &2 chord)‘

‘Record sample 2 (sop 1 & 2 held F) ‘

Playback sample 3

Playback sample 1

Playback sample 3

\Playback sample 2 H Playback sample 2\

Playback sample 1
Playback sample 2
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Meet me un-der the ba-lloon tree If you e-ver be lieve in me Ba - lloon
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Meet me un-der the ba-lloon tree If you e-ver be lieve me.
[Record sample 6 (sop | & 2 held Bflat)] [Record sample 7 (bass | & 2 sus F)] N/a [Record sample 8 (bass 1 & 2 low F/C)]
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‘Playback sample 4‘ ‘Playback sample 7 ‘

‘ Playback sample 2 ‘ ‘Playback sample 4‘

Playback sample 3
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[NO SAMPLE 7 OR 8 AT THIS POINT|
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